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The distance formula is the actually
the hypotenuse of a right triangle. Therefore, the distance formula
is actually a variation of the Pythagorean Theorem.
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Given the equation of a circle is (x-5)? + (y+7)? = 441
State the coordinates of the center of the circle and
find the length of the diameter.

Center: Diameter = 4 2.
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Given the equation of a circle is (x+4)? + (y-7)? =81
state the coordinates of the center and the radius.
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The equation of a circle is (x-3)? + y2 =45
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The center of a circle is (-4.9) and the radius is 5
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The center of a circle is (21,9) and the point (16,-1) is on the circle.

Write the equation of the circle.
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The radius is the distance from the center to any point on the circle.
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The center of a circle is (0,0) and the point (5,-8) is on the circle.
Write the equation of this circle.
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The radius is the distance from the center to any point on the circle.
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